2021-2022 EDUCATIONAL FOUNDATION WISH LIST

Listed below are items requested by various faculty members in the Hillsboro Community Unit Schools. Items suggested will enhance the educational environment. If you wish your contribution to be used to purchase an item listed below, please indicate such with your contribution by listing the name of the school and the item number. The items will be purchased in your name and presented to the classroom teacher listed. Individual items within a number may be donated as per your wishes. Please list alternate items to be purchased if possible.

ESTIMATED COST AND SHIPPING

Item Grade/Teacher	Description of Request	Amount
01-Band-Drake	3 Pearl Corps Air Frame Snare Carrier 3 X 289.95	869.95
02-Band-Drake	5 Pearl Corps Air Frame Bass Drum Carrier 5 X 299.95	1499.75
03-Band-Drake	1 Pearl Corps Air Frame Tenor Carrier with Back Bar 3 X 329.95	989.85
04-Band-Drake	3 Pearl 14" Gray Marching Snare Drum Carrier 3 X 68.95	206.85
05-Band-Drake	1 Pearl 22" Gray Marching Bass Cover	79.95
06-Band-Drake	1 Pearl 18" Gray Marching Bass Cover	71.95
07-Band-Drake	1 Pearl 20" Gray Marching Bass Cover	79.95
08-Band-Drake	1 Pearl 24" Gray Marching Bass Cover	86.95
09-Band-Drake	1 Pearl 26" Gray Marching Bass Cover	91.95
15-Science-Garmon	10 Optical Bench 10 X 68.00 + shipping 60.00	740.00
16-Science-Garmon	2 Classic Eye Model 2 X 128.00 + shipping 30.00	286.00
17-Science-Garmon	1 Colored Skull 298.00 + shipping 22.00	314.20
18-Science-Garmon	1 American 3B Tooth Model 172.00 + shipping 22.00	194.00
19-Science-Garmon	1 Tooth Model with Cavity 141.00 + shipping 18.00	159.00
20-Science-Garmon	1 Jaw with Teeth Model 135.59 + shipping 18.00	153.59
21-Science-Garmon	1 Blood Pressure Monitor 69.99 + shipping 22.00	91.99
22-Science-Garmon	2 Microscopes 2 X 259.87 + shipping 15.00	539.74
23-Science-Garmon	2 Sensor Carts 2 X 169.00 + shipping 30.00	368.00
24-Science-Garmon	1 Electric Balance 306.00 + shipping 20.0	326.00
25-Spanish-Andrews	1 Yabla Online Subscription	99.95
26-Spanish-Andrews	1 Quizlet Plus Online Subscription	47.88
27-Spanish-Andrews	1 News in Slow Spanish Online Subscription	274.80
28-Art-Kumlin	1 Royal Langnickel Brush Set Brush Set of 60	50.75
29-Art-Kumlin	3 Opaque Watercolor Gouache-Set of 20 Colors 3 X 18.15	54.45
30-Art-Kumlin	1 Tombow Dual Brush Pens	229.99
31-Art-Kumlin	1 Copic Original Market Set of 12 and 1 Pismacolor Set of 24	136.00
32-Art-Kumlin	1 Copic Original Marker Set of 72	421.20
33-Art-Kumlin	2 Dual Mode Visual Communications Tool 2 X 192.72	385.44
34-Ag-Gallion	1 18V Angle Grinder	139.00
35-Ag-Gallion	1 20V Cordless Band Saw	249.00
36-Ag-Gallion	1 20V Brad Nailer	299.00
37-Ag-Gallion	1 Dry Erase Board Calendar	96.51
38-Internal SuspMartincic	Scotch Thermal Laminating Pouches, 100 pkg. 2 X 22.54	45.08
39-Internal SuspMartincic	Adjustable Laptop Stand and Cell Phone Storage Box	42.47
40-Math-Olroyd	Teacher Pay Teachers Gift Card for Math Resources	75.00
41-English-Webster	Document Camera	99.59
42-English-Webster	Dry Erase Lapboards	51.95
43-English-Webster	Barnes and Noble Gift Card	50.00
44-Science-Cruse	Vacuum Distillation Organic Glassware Set 1 X 118.95 + Shipping 6.95	125.90

HILLSBORO HIGH SCHOOL

45-Life Skills-Lomprez	IGA Gift Card for cooking essentials	200.00
46-Life Skills-Lomprez	Money Bags Coin Value Game, Fiction and Non-Fiction Books	52.04
47-Special Ed-Schwartzkopf	TI-30 X11S Texas Instruments 10 pack	136.41
48-Math-Satterlee	Double Sided Dry-Erase Boards 12 packs with markers	165.86
49-English-Gonzalez	Barnes and Noble and Amazon Gift Cards for Novels	250.00
50-Counseling-Hilgert	Amazon Gift Cards to purchase Mental Awareness and Strategies	100.00
51-Business-Rench	Visme and Canva subscriptions 109.99 + 119.99	229.98
52-Business-Rench	Creative Market Fonts Gift Card and Supplies for Designs Amazon	175.00
53-Business-Rench	Money Instructor and Photoshop Tutorials	79.90

HILLSBORO JUNIOR HIGH SCHOOL

Item Grade/Teacher	Description of Request	Amount
54-Literature-Brauns	Teacher Pay Teacher Gift Bard for Class Activities	50.00
55-Band-Drake	1 Manhasset Regal Conductor's Stand 127.00 + shipping 16.99	143.99
56-Band-Drake	1 Percussion Tower with Cymbals and Stand 274.93 + shipping 20.87	295.80
57-Language-Speraneo	30 copies of Kids Magazine 4.50 + shipping .45 each	148.50
58-Science-Duff	1 Lenovo Chromebook 10.1 Tablet with Keyboard	299.00
59-Life Skills-DeLuka	Gift Card for Math Manipulatives, Amazon	200.00
60-Life Skills-DeLuka	Field trip to Grocery Store to purchase items for Life Skill Activities	200.00
61-Life Skills-DeLuka	Life Experiences at Ordering from a menu	120.00
62-Social Studies-Daniels	Neenah Paper and Pencil Packet Chart 19.48+30.99+shipping 12.96	63.43
63-Social Studies-Daniels	4 Surf Portable Lap Desks 4 X 40.42	161.68
64-Social Studies – Daniels	Lincoln and Washington Cardboard Cutouts	119.98
65-Health-Durbin	Teacher Pay Teacher and Amazon Gift Card for Health Class Resources	100.00
66-Library-Cline	Nathan Hale's Hazardous Tale's Books Series	106.99
67-Library-Cline	Graphic Novels-WWII and Blades of Freedom	43.97
68-Science-Harrison	Amazon Gift Card for Science Manipulatives	75.00
69-Art-Butler	Sharpie Permanent Markers in 6 packs	119.94
70-Art-Butler	Sharpie Ultra Fine Permanent Markers and Assorted Folders	79.10
71-Special Ed-Wygal	Teacher Pay Teacher and Amazon Gift Cards for Math Manipulatives	75.00
72-Science-Billingsley	Amazon Gift Card for Science Manipulatives	100.00
73-Science-Billingsley	Padlet and Kahoot Online Subscriptions	200.00
74-Language-Hacke	Factory Direct Partners Floor Video Rocker 4 X 46	184.00
75-Language-Hacke	Sunworks Heavyweight Construction Paper 4 X 9.79	39.16
76-Literature-Tester	Factory Direct Partners Floor Video Rocker 4 X 46	184.00
77-Literature-Tester	Sunworks Heavyweight Construction Paper 4 X 9.79	39.16
78-8 th Grade- Hires	Expo Dry Erase Markers Whiteboard -Black –Chisel & Fine	54.02
79-8 th Grade-Hires	Chalkboard Brights Classroom Privacy Screen (3)	38.97
80-Special Ed-Polus	Teacher Pay Teacher Gift for Science Resources	50.00
81-Special Educ – Furness	Classroom Supplies & Materials – Gift Card for Spec Educ Class	100.00
82-Business-White	XYZ Refill Filament for 3D Printer 3 X 24.95	74.85
83-Business-White	Educational Apps for Virtual Reality and Mice	129.97
84-Literature-Clark	Gift Card for Literature Resources	100.00

BECKEMEYER ELEMENTARY SCHOOL

Item Grade/Teacher	Description of Request	Amount
85-Title-Harnetiaux	Zingo Numbers, Foam Dice Set, Bingo Game, Puzzle, Phonics Printables	108.39
86-Title-Harnetiaux	Scotch Thermal Laminator and Pouches	177.93
87-Music-Manasco	Studio 49 Series Glockenspiel Soprano and Alto	457.89
88-Special Ed-Heldebrandt	Amazon Gift Card for Math and Science Materials and Manipulatives	100.00
89-Special Ed-D. Pope	Mobile Whiteboard	117.93
90-Special Ed-D. Pope	Kids Stay-N-Play Balance Ball and Headphones Sets	63.79
91-Special Ed-D. Pope	Rolling Storage Cart and Organizer 62.41 + shipping 17.70	80.11
92-Special Ed-Trader	Scotch Thermal Laminator	33.98
93-Special Ed-Trader	Amazon and Teacher Pay Teacher Gift Cards for Science and Language	100.00
94-Special Ed-Waters	Magnetic Dry Erase Easel and Letter Tray	37.00
95-Special Ed-Waters	Lowercase Magnetic Letters 16.00 X 6	96.00
96-Special Ed-Waters	Lakeshore Gift Card and Amazon Gift Card for Hands on Materials	300.00
97-Life Skills-Reynolds	Amazon and Wal Mart Gift Cards for snacks for students	250.00
98-Special Ed-Stewart	Classroom Storage Baskets, Clothespins, Envelopes, Caddy's, Grabber	73.65
99-Special Ed-Stewart	Classroom Carpet from Childcraft	171.71
100-5 th Grade-Atkins	Amazon and Visa Gift Card for Math and Science Manipulatives	200.00
101-5 th Grade-Hellums	Rolling Cart, Exercise Balls, Magnetic Whiteboard Dry Eraser and Stools	192.81
102-5 th Grade-Hellums	Floor Cushions, Table Spots, Wireless Doorbells, and Paperback Books	143.67
103-5 th Grade-Leek	Laminating Pouches and Amazon Gift Card for Math Manipulatives	69.99
104-5 th Grade-Leek	Rolling Office Chair	64.98
105-Kindergarten-Rogers	Colored Copies to Copier for Students	100.00
106-Kindergarten-Rogers	Amazon and Wal Mart Gift Cards for Science Manipulatives	150.00
107-Kindergarten-Gorowski	Colored Copies to Copier for Students	100.00
108-Kindergarten-Gorowski	Amazon and Wal Mart Gift Cards for Math Manipulatives	150.00
109-Kindergarten-Kindernay	Visa Gift Card for Math Games	125.00
110-Kindergarten-Kindernay	Colored Copies to Copier for Students	75.00
111-Kindergarten-Kindernay	Amazon and Wal Mart Gift Cards for Science Manipulatives	100.00
112-Kindergarten-Paden	Amazon and Wal Mart Gift Cards for Hands-On Manipulatives	250.00
113-Kindergarten-Morford	Colored Copies to Copier for Students	75.00
114-Kindergarten-Morford	Amazon and Wal Mart Gift Cards for Hands-On Manipulatives	175.00
115-1 st Grade-Lessman	2-Classroom Student Projector Boxes 2 X 34.79	69.58
116-1 st Grade-Lessman	Amazon Gift Card for Science Manipulatives	50.00
117-1 st Grade-Harbert	Group Materials Caddy	159.99
118-1 st Grade-Harbert	Classroom Mail Center	189.99
119-1 st Grade-Harbert	Double Sided Dry Erase Clipboards and Privacy Shields	150.55
120-1 st Grade-Harbert	Number Line Dry Erase Boards	128.76
121-1 st Grade-Millburg	Colored Copies to Copier for Students	50.00
122-1 st Grade-Millburg	Teacher Pay Teacher, Scholastic, and Amazon Gift Cards	150.00
123-1 st Grade-Holderread	Amazon Gift Card for Classroom Library and Math Manipulatives	200.00
124-1 st Grade-Holderread	Colored Copies to Copier for Students	50.00
125-1 st Grade-Lynch	Amazon Gift Card for Science/Math Manipulatives for STEAM Centers	250.00
126-2 nd Grade-Brown	Gift Card for Consumables for STEAM Centers	100.00
127-2 nd Grade-Brown	3 Chair Bands Bouncy Sensory and Hyperactivity Chairs 3 X 11.99	35.97
128-2 nd Grade-Brown	Gift Cards for Read Aloud Books	150.00
129-2 nd Grade-Brown	Gift Card for Math/Science Manipulatives for STEAM Centers	100.00
130-2 nd Grade-Hoehn	Amazon Gift Cards for Consumable STEAM Materials	200.00
		-00.00

132-2 nd Grade-Tuetken	Post-it Super Sticky Easel Pad	44.35
133-2 nd Grade-Eaker	Teacher Pay Teacher Gift Card for Lessons	100.00
134-2 nd Grade-Eaker	Amazon Gift Card for Math Manipulatives	95.00
135-2 nd Grade-Eaker	Colorations Modeling Pearl Putty	53.10
136-2 nd Grade-Coleman	Teacher Pay Teacher and Amazon Gift Cards for Manipulatives	100.00
137-3 rd Grade-Hoffman	Teacher Pay Teacher and Amazon Gift Cards for Manipulatives	200.00
138-3 rd Grade-Roesch	Steam Engineering Toys and Magnetic Tiles	60.96
139-3 rd Grade-Forys	Teacher Pay Teacher and Amazon Gift Cards for Manipulatives	200.00
140-3 rd Grade-Forys	Really Good Stuff.com Gift Card	50.00
141-4 th Grade-Hammann	Floor Cushions and Ergo Seats	249.90
142-4 th Grade-Hammann	Amazon books for classroom	225.70
143-4 th Grade-Hammann	Computer speakers for classroom setting	39.99
144-4 th Grade-Jorn	Lakeshore Learning-Reading Practice Cards, Comprehension Cards,	241.95
	Vocabulary Cards, Teaching Charts, Place Value, and Fractions	
145-4 th Grade-Jorn	Math Folder Game Libraries	159.00
146-4 th Grade-Jorn	Protractor, Number Lines, Flip Books, Dry Erase Boards	70.84
147-4 th Grade-Ball	Teacher Pay Teachers and Amazon Gift Cards for Manipulatives	250.00
148-4 th Grade-McCoy	Teacher Pay Teachers and Amazon Gift Cards for Manipulatives	250.00

COFFEEN ELEMENTARY SCHOOL

Item Grade/Teacher	Description of Request	Amount
149-Pre-K-Gutierrez	2 Circleline Circle Trike 2 X 169.00 plus shipping 40.56	378.56

For updates, please refer to the Foundation website at <u>https://www.hillsboroschools.net.domain/156</u> for updates on items that have been donated and purchased through the Wish List Program.

THE HILLSBORO EDUCATIONAL FOUNDATION PARTICIATES WITH THE FOLLOWING:

- Amazon Smile (based on purchases on line through Amazon Smile
- <u>Benevity Community Impact Fund (Apple Computers)</u>
- Boeing Company Gift Matching Program
- Merck & Company
- <u>Thrivent Financial Choice Dollars</u>

If you have any questions, please feel free to contact us at our Foundation email address:

edfoundation@hillsboroschools.net